
YAMAHA FZ-09 (MT-09) ’14-’16  / XSR900 ‘16- 
FRAME SLIDERS
‘DIRECT FIT’ version

satoracing.com

part# Y-MT09FSD

SLIDER PUCK
[SDR-REV-L]

SLIDER BASE M10 GOLD
[SDRBG-10]

COLLAR 20-10S
[CLR-20-10S]

SOCKET HEAD
M10×65 (P1.25)

[SBT-M1065]

SOCKET HEAD
M10×85 (P1.25)

[SBT-M1085]

SET SCREW M6×6
[SSCW-6]

WASHER
(STOCK YAMAHA PARTS)

[L] [R] 

SET SCREW M6×6
[SSCW-6]

SLIDER PUCK
[SDR-REV-L]

SLIDER BASE M10 GOLD
[SDRBG-10]


